Homework 27.

Problem 1. Solve the problem according the diagram.
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Solution: (fl.)

Answer: Flowers

There were u’) & , then add
%
cups more.

How many cups are in all?

( were . add w

I ¥ 1

Solution: (c.)

Answer: Cups

Problem 2. The pet shop had 7 kittens for sale. There were 3 white kittens and others
were ginger. How many ginger kittens were in the store for sale?

Solution: (g.k.)

Answer: Ginger kittens
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Problem 3. Create problems based on the picture, complete each diagram and number
expression.
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There are 7 leaves. 2 ofthem apnd 3 1": . others are =

Solve the problem
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Create yours problems based on the diagrams and picture.
a) ? 6) 9
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Problem 4. Add up to 9. Draw and write your solution.

’ @ W

4 A - )
ee |[Tono) aA|E 2
0 O OO B
© [] D ® %
. il = L 2% + L N L1+ J
. J
Problem 5. Solve.
5+2-3+1-2= 6-3+5=7T+2=[_
9-2-1-5+2= 8-4-2+0+1=|_
o ® o ® —e @ 6o @ .
0 1 2 3 4 5 6 7 8 9 10
3+[]=7 -1=6 5+ ]=5
+4 =8 9 -[]=2 3-11=3
Problem 6. Find out what shapes are missing. Draw.
0 0@
b) - = =t
|
C) - = -1
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Problem 7. Using only 4 colors, color the neighboring areas. Make sure the neighboring areas
are not colored in the same color.
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Using only 2 colors, color the neighboring areas. Make sure the neighboring areas are not
colored in the same color.




Problem 8. Solve.

12[-[1]= 13[-[1]=
12(—|2|= 13|—12 |= 14— 1|=
14— 2 |= 15|—12 =
16|—| 2 |= 19|—|2|= 20— |2 |=
Decode the word.
16|—4|= 11|47 |=
R P
13|—|5|= 5 [+|5]|= 18|+|2 |=
E T 0]
17/—| 6 |= 19|—12|=
@) R

10 12 (11 (20|18 | 8 | 17
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Problem 9. Find differences in the pictures.
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Problem 10. Solve and compare.
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Problem 11. Connect and find out who is hiding in the ocean.
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